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Ex S-card Poker hands :
-

L↓ 3-of-a-kind
E 3 jacks

-

/pair-re↑ ↑

↑
4

+ ↑

-,house

↑
- en
pai I 3-of-a-kind



584 right
-

same as :

⑰



Ex : Suppose you are dealt
-

I cards from a standard

52-card deck
.

What's the probability
that you get

a royal flush ?
-

The size of the sample space,

is the total
# of possible

scand poker hands is

(8) = 2
,
598
,
960

How many royal flushes

are there ?

E7lo4



⑭ 4

⑱ flushes

r3 royal

The probability of a

royal flush
is

4

⑮58, 960
=

740

~ 0
,

000001539 ...

=0
.

0001539 %



# Same setup as above
,

What's the probability of

getting one pair
and

nothing better
-

sample space
size :

(5) = 2
,
598
,
960

-

need to count the
we

# of hands that
make

a pair and nothing

-Are Ease
A
,
2
,
3
,
4
,
5
,
6
,
7
,
8
,
9
,
10, 5, Q, Kvalve

↑
,9, 8 , 07Eit



Let's enumerate the pairs .

ep7:Pick
a tue are

WA ,R, 3 , 4 , 5 , 6 , 7, 8 , 9 , 10 , 5, a,k
possibilities in step 1 : (B) = 13

-

↑

=
#2

:

Pick 2 suits for the pair

up8
,

9
,
5
,
81

possibilities in Step 28(2)
= 6



↳Ex :↳2
-

*3 : Pick the other 3 face

Lvalues .

They can't
be the

same as step 1
,
and you

A
,X,

3
,
4
,
8, 6 ,

7
,
8, 9 , 10 ,5, a,kLianedeliantes.

possibilities in Step 3
: (3) = st != 270

-

EX iE⑰kil2



*

4 :

Fill in the 3

remaining suits
.

↳Gl
= 4 , 4 : 4 = 64 -

Ext ↓ ↓ d
-

-⑩
Mus , the total #

of hands

that are a pair
and no better

are 13 · 60220 - 64
- ---
Step / Step 2 Step 3 Step 4



-2401

So the probability is

1 , 098 , 240
- 0 . 422569 ...
2
,
598, 968

=



#x tra problems

① Suppose you are
dealt

2 cards from a standard

52-card deck . E(a) What's
the probability

that both
cards are aces ?

(b) What's the probability
both cards have theL
same face value (or

rank) ?

the sample space size is the

total i of 2-card hands .

It is



123 =i!
= 26 . 51

: [l-I - 1326

⑭

(a) How many
hands have

two aces ?

DanI



or use choosing .

pick 2 from :

⑭
(2) = y : = " =

6

the probability of getting
two aces is

*

=

2
= 0 .

00452 ...

=0 .
452 %



(b) Need to count the #

of hands with both
cards

same face value ·

Step 1 : Pick the face value

A
,

2
,
3
, 4 ,

5
,
6
,
8, 8 , 9, 10, 5, a, k## possibilities in Step 1 : ( ? ) = 13

: WE7-
Step 2 : Pick two suits⑱8

,
87



↳menitiesin step 2 : (2) = 6)
iCEx

# of hands with same face

value on both conds is

⑱13 . 6 = 7
W -

Step 1 Step 2

probability is = 117
= 0

,

0588 ,
= 5

,
88% -


